
 @= ljleGg k|dfl0ft / l;kmf/L; tyf cGo b:t'/

l;=g+= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

! 3/jf6f] l;kmfl/; 

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 

k|lt /f]kgL-! /f]kgL eGbf sd hlt ePklg ! /f]=sf] b:t'/ nfUg] 5_
0

s ;8s;Fu hf]l8Psf] lsQf Ps /f]kgL ;Dd 600 400 240000

v uf]/]6f] af6f] 100 400 40000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx?

s d"Vo ;8s 300 100 30000

v zfvf ;8s 100 100 10000

u uf]/]6f] af6f] 50 50 2500

# hUuf gfd;f/L l;kmfl/;

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 500 100 50000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 200 100 20000

$ gfd, y/ ;+zf]wg l;kmfl/; 300 50 15000

& 3/ sfod l;kmfl/; -9nfg 3/_ 1000 20 20000

* 3/ sfod l;kmfl/; -9nfg afx]s cGo 3/_ 300 50 15000

!$ 5'6 hUuf btf{sf] l;kmfl/; b:t'/ 

s
g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 

Ps /f]kgL ;Dd
3000 0 0

k|=/f] yk 

?=!))).–

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 300 10 3000

!% ljB't h8fgsf] l;kmfl/; b:t'/-3/of;L k|of]hg_

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 400 100 40000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 200 100 20000

!^ ljB't h8fgsf] l;kmfl/; b:t'/-y|L km]h nfOg_

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 1000 3 3000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 1000 5 5000

!&
Aoj;fo, vfg]kfgL wf/f, ljB't ld6/ cflbsf] 7fpF;f/L tyf gfd 

;+zf]wg l;kmfl/;
300 100 30000

!* lghLwf/f jf 6]lnkmf]g h8fg l;kmfl/; b:t'/

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 250 100 25000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 100 50 5000

!(
a}b]lzs /f]huf/sf] le;f k|of]hgsf] nflu l;kmfl/;-;fs{sf ;b:o 

/fi6«x? afx]s_
0 0 0

s vf8L d'n'ssf] nflu 500 100 50000

v dfly pNn]lvt afx]s cGo d'n'ssf] nflu 1000 50 50000

@! kl/jf/ NofPsf]÷nu]sf] l;kmfl/; 200 200 40000

@# gftf k|dfl0ft b:t'/

;a} j8fsf nflu 500 150 75000

@$ j;f]jf; k|dfl0ft -a}b]lzs k|of]hg_ 1000 10 10000

@% a;f]jf; k|dfl0ft -:jb]zL k|of]hg_ 500 10 5000



l;=g+= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

@^ gfkmfd"ns ;+:yf btf{÷gljs/0f / l;kmfl/; 2500 5 12500

@& ;]jfd"ns ;+:yf btf{÷l;kmfl/; 200 5 1000

@* aGb ePsf] cyjf 7fpF ;f/]sf] 1500 4 6000

#) df]xL gfd;f/L l;kmfl/;

s ;a} j8fsf nflu 500 5 2500

#! ;DaGw ljR5]bsf] l;kmfl/; 1500 11 16500

#@ 7'nf pBf]u :yfkgfsf] l;kmfl/; 10000 0 0

## demf}nf pBf]u :yfkgfsf] l;kmfl/; 1000 1 1000

#$ ;fgf tyf 3/]n' pBf]usf] l;kmfl/; 500 100 50000

#%
?v sf6\g] l;kmfl/; k|lt uf]6f -k|ltalGwt afx]s :jLs[t cfjZos 

kg]{df_
300 50 15000

#^ g]kfnL k]G;gk§f ;DaGwL l;kmfl/; 500 30 15000

#& ef/tLo k]G;gk§f ;DaGwL l;kmfl/; 1000 5 5000

#* cGo d'n'ssf] k]G;gk§f l;kmfl/; 5000 3 15000

#( ck'tfnL l;kmfl/; -g]kfnsf] nflu_ 1000 1 1000

$) ck'tfnL l;kmfl/; -ljb]zsf] nflu_ 5000 1 5000

$! hGd d[To" ljjfx k|dfl0ft tyf l;kmfl/; -#% lbg s6]kl5_ 200 100 20000

$@ pNn]lvt afx]ssf cGo ljljw k|dfl0ft tyf l;kmfl/; 200 300 60000

c+u|]hLdf l;kmf/L; 1000 100 100000

$# Pkm=Pd= ;~rfng l;kmfl/; z'Ns 50000 0 0

$$ Pd=Pd=;~rfng Ohfht b:t'/ !)) jf6 ;Dd 10000 1 10000

Pd=Pd=;~rfng Ohfht gljs/0f 15000 1 15000

hDdf 1154000

b|i6JoM gu/kflnsf / j8f sfof{noaf6 JolQmut Pj+ kfl/jfl/s cfly{s ;xfotf ;DjlGw l;kmf/L; lgMz'Ns ug]{ .

#= axfn s/ M

qm=;= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

!
gu/kflnsf If]qleq s'g} 3/, k;n, Uof/]h, uf]bfd, 6x/f, ;]8

sf/vfgf, hUuf cflb jxfndf lbPsf]df  !) k|ltzt
10.00% 5000000 500000

@

gu/ If]qdf cfkm'n] lgdf{0f, /]vb]v / ;~rfng u/]sf] xf6ahf/ /

;fj{hlgs :yn, P]nfgL hUuf jf ;fj{hlgs af6f]sf] 5]pdf c:yfoL

k;n yfKg lbP jfkt -k|lt ju{lkm6 ?= @ b]lv @) ;Dd_

200 20 4000

hDdf 504000
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